Sum of squares is equal to zero:
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292 . If (a 3)2 4+ (b—4)%?+ (c —9)% = 0, then the value of Va + b + ciis:
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24 1f 3a+ 1)%2 + (b — 1)% + (2¢ — 3)% = 0, then the value of (3a + b + 2¢)is

equal to
3171T(3a+1g2+(b—1{12+(2c—3g2:0%Fﬁ (3a+ b + 2¢):
a)3 © p1 © ¢2 © As
-1
b=
C=3
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295. If (2a — 1)% + (4b — 3)? + (4c + 5)% = 0 then the value of

a3+b3+c3-3abc is

a?+b%+c?
IR (2a — 12 + (4b — 332 + (4c + 52 = 0§ Ay oo debe,
27 9 (@ 0 11 a’+b*+c
AT by A0 45
O
eyt
=2 5 (0 4b40) (4= ab o)
C= k_1 0 4 8'4(_7'
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296 f(x+y—z—1)>?+(zZ+x—-y—2)2+(z+y—x—4)?=0,then
findx+y+z="7?
I (x+y-z-1QP+(Z+x-y—-20P+(z+y—-x—4)?2=0¢gda
X+y+z & AR AT U | % ~o
a)3 7 c)5 d) 4




297. If the value of (a + b — 2;2 +(b+c—
5%+ (c+a-5=0, theR the value

of\/(b+c)“+(c+a)b 1is:

Otb=2 I (a+b-2)%+(b+c— %+
b+(=5. (c+a-5)*=0 : Car
1 V(b + 02+ (c+a) -1 F1 AW &

+a-=5. a) 2 b) 1
- ( ,/4’3 d) 0
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248 |f x? 4x 0, then the value of x — y is
el CY LR
a)4 b) -4 5;
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299. If x? + y% + 2x +1 = 0, then the value of x31 + y35 is
@w 2DHD=0 A 231 +y* gar
1 b) 0 )1 d) 2
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200, If a? + b? = 4b + 6a — 13, then what is the value of a + b?

Ife a? + b? =4b+673%,aT a + b T AT FATE?
5

a) 3 b) 2 d) 10
(s fueaiiz=0
2.0

@5 (b2) = 0
<) =1
b= o
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20). If x% + y? +6x+5—4(x y) thenx-yis
Qﬁx +y*+6x+5=4(x—y)8, a x—yFT g&N ?

b) -1 03 d)-3
Sty R e
%1 =

Y
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302, If 2x% + y? + 6x — 2xy + 9 = 0, then the value of (4x3 — y3 + x%y?)is:

afe 2x? @0% ar (4x3 —,}{5+x2y2) HT A &

Wo c)-9 d)-3
] @ A 2+
A e -8/ 48§ =0
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30%. If 542 + 4x +y2 2x + 1 = 0 then find the value of x — y.
aﬁSx 0%,a‘rxy$rm=r?n?raﬂ‘r|
7 3 )3 d)1 I

@
@My\ﬁ (x+ fj =0

—3{1— X=-|
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2,74, If@+ 8y? 0, then the
eof (7x +8y)is: Do '?('23.

e x% +8y% + 12y —4xy + 9= 0 g ar
(7x + 8y) &T AT ATT HI|
733\ b) 9 ¢) 33 d) -9

e+ Gy =0 A=

| SSC CPO 24 Nov,2020 S1 | 16



205, a’? + b? + ¢ = 2(a+ 2b + 3¢) — 14, thenthe of 4a — 3b + 5c is

pa® Hb? He? = 2(a+ 2b + 3¢) — 14, a‘r 4a — 3b+5c$r311?|':
a) 12 H13 0 c)15 /krn

20 +4b+€C L+b)
o
R Y-6+IS +°?o\b Tb
b=2-2 =3 e ki X
\
=2 .3
\
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306, If a® + 4b* + 49¢? + 18 = 2(2b + 28c — a),then (3a + 2b + 7¢)is :
3R a? + 4b? + 49¢? + 18 = 2(2b + 28¢c — a), d@ (3a + 2b + 7¢) =?
a)o di'f/z

c)1 d)3 /

=l _ _
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=&.=._'
b= %3
=22y
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30 Ifa? + b? +c®> +96 = 8(a + b — 2¢), thenvab — bc + ca is equal to:
& a? + b*+c>+96 =8(a+ b —2c) A Vab — bc + ca @&t F 3

frad arew 37 U
a)6 b) 2v/2 4 d) 23
a= Y-y \m 122732 =y
|
b: i\.: \1
C= -_g:.-—g
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308 If 9a® + 4b* + ¢* + 21 = 4(3a + b — 2¢), then the value of (9a + 4b - ¢) is
Ifg 9a% 4+ 4b> + > +21=4Ba+ b = 2c), @ (9a + 4b - c¢) FT A &:
a) 16 b) 2 c)6 12

6t2+Y
a.F —6—:,%
q 3
b=2_1
TS
C: i‘i\.:_w




200. If x2 + 4y% + 322 +%= 23 (x + y + z), then the value of (x — 4y +
3z) is:

gfe x2+4y2+322+14—9=2\/§(x+y+z) g a (x—4y+3z) &I
AT AT |
) b) 23 veﬁ? a2

_Jz
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%

2=8_1
S 83
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210. If 9a? + 16b? + ¢? + 25 = 24 (a + b),then (3a + 4b + 5¢) =?

afE 9a% + 16b% + 2 +25 =24 (a+b) &, @ (3a+4b + 5¢) =7
a9 b)je

d)10
an(a+b+0-¢) /
a=1&. Y
3
1 Y 4340
= Ez _3
o 6 v
C.'C—D

SSC CHSL, 03 Jul 2019 S3



21. fa® + b®> + 64c* + 16¢c + 3 = 2(a + b),then4a’ + b’ + 8c* =?
I a®> + b? +64c* + 16¢c + 3 = 2(a + b) &, a@ 4a” + b7 + 8¢% =?
-  ~——>
1 7 1
a) 4§ b)4§ J')/SE

d) 3. 2(c+b- g )

A= |
- 1 1L
b= | g
C=-8 _-|
&

SSC CGL ,04 Jun 20193



2. If a® + ¢ + 17 = 2(a — 8b — 2b?), then what is the value of (a3 + b3 +

c3)?

e a’+c?+17=2(a-8b-2b%) ¥ @ (a®+b%+c%) F AW
AT A

HoT b) 9 ¢) 10 d) —4

C+ FubH7=3@-9L) | _g to

SSC CGL 2020 Tier 1



213 If x* + y? +1+1+4 0,then x2 + y? =?

I M—F‘l 0 Fara?+y? =2
3)2@4 -2 d)f-tll— =7d

@) |2

Q= 2
Q&"—QQJ Q{j—\_\%; g
'Xﬂ - D \a_ _ _\
- ;—__E( \a)'t \.3_-\
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2. fx?+y% += +——Othenthevalueofx + y?is:

B

b)3G2F2)c) 8 d) 16
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215. If a® + 4b% + — + L= 5, then the value of a? + b? will be

2-0x] = ““-5\% ol +b2a:rm3’l7rr
20 Pt @ c)Z d)(2

@'Zf&l @b b§ =*

QORESSS

27



2
306 Ifa*+1 = [Z_Z] (4b% — b* — 1), then what is the value of a* + b*?

»

a4+(1/={Z—Z] (4b% — b* — 1) &, @ a* + b* FT AT FAT &7
b)16 ¢) 32 d) 64/

| SSCCGL T2, 20 Feb 2016 | 28



2 2
307 If(x3+xl3—k;o+ (x+%—plO=0wherekandpare real number and
xth,the equal to:
2 2 o . v
Ay (3 +5-k) +(x+5—p) =0 & k3R p IRaRF FEnd
Fax2 0¥ @ 1 A@ W §

a)p?+1 b) p? + 3 cp?—-1 %pZ—S
4l < x+lop
x> x

O N T
P-%P—K -)’(*Q.S—P_‘g‘:
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